nbreg n mordeduras rendamediadolares cem, dispersion(mean) exposure (num hakitantes) irr

Fitting Poisson model:

Iteration 0O: log likelihood = -1501.905
Iteration 1: log likelihood = -1501.7905
Iteration 2: log likelihood = -1501.7905

Fitting constant-only model:

Iteration 0O: log likelihood = -508.82329
Iteration 1: log likelihood = -503.05528
Iteration 2: log likelihood = —-489.13435
Iteration 3: log likelihood = —-488.9%369%9¢
Iteration 4: log likelihood = —-488.93622
Iteration 5: log likelihood = —-488.93622

Fitting full model:

Iteration 0O: log likelihood = —-473.22552
Iteration 1: log likelihood = -469.159211
Iteration 2: log likelihood = -4&67.63033
Iteration 3: log likelihood = -4&67.62291
Iteration 4: log likelihood = -4&67.62291
Hegative binomial regression Humber of obs = 75
LR chiZ2 (1) = 42 .63
Dispersion = mean Prob > chiZ2 = 0.0000
Log likelihood = -467.622%891 Pseudo R2 = 0.0436
n_mordeduras IER Std. Err. z P>|z] [95% Conf. Interval]
rendamediadolares cem 5505122 0060365 -7.89% .2387534 2624183
_cons .047T888E 0053081 -27.42
In (num habitantes) 1 {exposure)
Slnalpha -1.77875 1803606 -2.13225 -1.42524%
alpha 1688491 . 0304537 1185702 .2404485

Hote: Estimates are transformed only in the first equation.

HNote: cons estimates baseline incidence rate.
LE test of alpha=0: chikbar2(0l)}) = 2068.34 Prok >= chibar? = 0.000




